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Set, Map
® Self-balanced Binary Search Tree

e Disjoint Set
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1 template<typename T>
2 struct Stack{

3 int now;
T arr[MAXN];
Stack(): now(0) {}

T& top() { return arr[now-1]; }

void pop() { now--; }

void push(T val) { arr [now++] = val; }

int size() { return now; }
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o #ifl : F(n) = F(n-1) + F(n-2)

1 int F(int x) {
2 if (x < 2) return x;
return F(x-1) + F(x-2);

A }

5 cout << F(10) << endl;

FABA RO DIFE stack B9 -

3 4
4 Stack<Node> st{};
5 st.push(Node{ .v
6 while ( ) {

1 struct Node {

int v, 1 =0,

while (st.top()
1f (st.size()
else {
int s = st.top().s;
st.pop();
st.top().s += s;
}
if (st.top().1 == 2) break;
int v = st.top().v;
if (v <2){
st.pop();
st.top().s += v;
} else {
int x = v - (++st.top().1);
st.push(Node{ .v = x });

24 cout << st.top().s << endl;




« NEOJ #36 https://neoj.sprout.tw/problem/36/

o WNREFR/KIERIGEE - JLIFKEYEE NEOJ #19, #22, #23,
#512, #513
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https://tex.stackexchange.com/questions/18363/diagrams-package-that-allows-to-draw-computer-buffers-memory-diagrams

1 template<typename T>
2 struct Queue {
int head, tatil;
T arr[MAXN];
Queue(): head(0), tail (0) {}

T& front() { return arr [head]; }

void pop() {
head++;

1f (head == MAXN) head
}

void push (T val) {
arr[tail++] = val;
1f (taitl == MAXN) tatil
}

int size() {
return (

tail + MAXN - head) % MAXN;




e NEOJ #37 https://neoj.sprout.tw/problem/37/
o YIREEFR/KIEMGE - oJLIFKELYEE NEOJ #20

» FAVEREIES—fE queue HBIHA—LEKBE L BR
NEOJ #20 WIIE - FRAER 1075 =#R1E queue (?)

e source:
https://gcc.gnu.org/bugzilla/show bug.cgi?id=77524
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1 template<typename T>
2 struct Deque {
int head, tail;
T arr [MAXN];
Deque() : head (0), tail (0) {}

void pop_back() {
if (tail == 0) tail = MAXN;
tatl--;

}

void push_front(T val) {

RS AAPOIe ) o {f (head == 0) head = MAXN-1;

return arr [head];

y arr [head--] = val;

}

T& back() {
if (tail == 0) tail = MAXN;
return arr[tail-1];

void push_back(T val) {
arr[tail++] = val;
if (tail == MAXN) tail = 0;

} }

void pop_front() {
head++;
i1f (head == MAXN) head = 0;

int size() {
return (tail + MAXN - head) % MAXN;

}
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* Try NEOJ #21, #25

e #21 Hint: https://pastebin.com/sWRRxrpz



https://pastebin.com/sWRRxrpz
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C++ BY STL 9 - HARME stack

#include <stack>

std: :stack<int> sta;
sta.push(1l);

std::cout << sta.top() << ‘\n’;
// REOEHKIERNITE - AZ pop
sta.pop();

// RE pop - AZEEIERIEIRINITE

h




C++ Y STL H

queue

- T BIEM queue

#include <queue>

std: :queue<int> que;

que.push(1);

std::cout << que.front() << ‘\n’;
// REEERKAIRNITER - AE pop
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deque

C++ HY STL & - AR E deque

#include <deque>

std: :deque<int> deq;

deg.push _front(1);

std::cout << deq.front() << ‘\n’;
que.pop_ front();

std::cout << deq[k]<< “\n’;




nked list

C++ B STL P - HARME linked list

#include <list>

std::list<int> 1lis;

lis.push front(1);

std::cout << lis.front() << “\n’;
lis.pop front();
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2 while (size() > 0 && top() >= value[idx])

pop() ;
4 1f (size() > 0) ans[idx] = top();

6 push(value[idx]);
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